Dividing Money (B)

i

10.

Calculate each quotient.

42 ) €3785.04 2. 17 ) €1354.56 3. 18 ) €1267.20
69 ) €3121.56 5. 56 ) €1711.36 6. 65 ) €802.10
64 ) €4981.76 8. 91 ) €7096.18 9. 72 ) €5660.64

If 38 identical backpacks cost €3038.48, how much did each backpack

cost?
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Dividing Money (B) Answers

10.

€90.12

42 ) €3785.04
—€3780.00

€5.04
—€4.20

€0.84
—<0.84

€0.00

€45.24

69 ) €3121.56
—€2760.00

€361.56
—€345.00

€16.56
—€13.80

€2.76
—€2.76

€0.00

€77.84

64 ) €4931.76
—€4480.00

€501.76
—€448.00

€53.76
—€51.20

€2.56
—€2.56

€0.00

Calculate each quotient.

€79.68

17 ) €1354.56
—€1190.00

€164.56

—€153.00

€11.56

—<€10.20

€1.36
—<1.36

€0.00

€30.56

56 ) €1711.36
—€1680.00

€31.36

—€28.00

€3.36
—€3.36

€0.00

€77.98

91 ) €7096.18
—€6370.00

€726.18

—€637.00

€89.18

—€81.90

€7.28
—€7.28

€0.00

€70.40

18 ) €1267.20
—€1260.00

€7.20
—€7.20

€0.00

€12.34

65 ) €802.10
—€650.00

€152.10
—€130.00

€22.10
—€19.50

€2.60
—€2.60

€0.00

€78.62

72 ) €5660.64
—€5040.00

€620.64
—€576.00

€44.64
—€43.20

€1.44
—€1.44

€0.00

If 38 identical backpacks cost €3038.48, how much did each backpack

cost? €79.96
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